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o Check the units of your results.

¢ Closed book, closed notes.

e No calculators.

e Leave pack, books, and electronic devices (e.g. cell phones) in isle.
o Take off caps or hats,

e Copy your answers into marked boxes on exam sheets.

Simplify numerical and algebraic results as much as possible. Up to 10 points penalty for results
that are not reasonably simplified.

e Be kind to the graders and write legibly. No credit for illegible results,

e No credit for multiple differing answers to the same question.

The UC rules on dishonesty apply.



I 1. [25 points] Calculate the component values of Thévenin and Norton equivalents for the circuit

shown below.
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2. [25 points] Derive an expression for the power dissipated in source [;.
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[25 points] Derive an expression for v, as a function
Assume that the operational amplifier is ideal.
Suggestion: do not use node voltage analysis
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4. [25 points] Derive an expression for 7 as a function of circuil parameters. Assume that the
operational amplifiers are ideal.
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